MAC 1105 TEST 2 Review

Leave answers in exact form unless otherwise stated.  Show all work.

1.  Solve by extraction of roots:


[image: image1.wmf]64

)

4

3

(

2

=

-

x


2.  Solve by factoring:
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3.  The solutions of a quadratic equation are 
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 and 
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. Write the equation in standard form using integer coefficients.

4.  Find the vertex of 
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5.  Find the y-intercept of 
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6.  Find the x-intercepts of 
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7.  Solve by completing the square:
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8.  Use the quadratic formula to solve:
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9.  Use the discriminant to describe the nature of the solutions of 
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10.  The sum of the first 
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 positive integers is given by 
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How many consecutive positive integers must be added to get a sum of 105?

11.  The altitude, a, of a bomb at t seconds after being dropped by a plane is given by:
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is the altitude of the plane when the bomb is dropped.  If the plane’s altitude is 12,800 feet when the pilot drops the bomb, how long would it take to hit the ground?

12.  Sketch the graph of: 
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 by using your answers to #4, 5 & 6.


13.  Solve algebraically and give answer in interval notation:
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14.  Solve algebraically and give answer in interval notation:
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15.  Solve the system algebraically:
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16.  Find the vertex of 
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17.  A parabola has its vertex at (
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.  Write its equation in standard form if the y-value of the y-intercept is 
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18.  The leading coefficient of a quadratic equation is between 
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 and 0.

a)  Does the graph open up or down?

b)  Is it wider or narrower than 
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